КОНТРОЛЬНАЯ РАБОТА № 6

1.  ВАРИАНТ

1.  Разложите многочлен на множители:

а) 3x2 – 12x;
б) ab – 2a + b2 – 2b;
в) 4x2 – 9;

г) x3 – 8x2 + 16x.

2. Сократите дробь:

а) [image: image2.png]


            б) [image: image4.png]



3. Решите уравнение

                    x3 – 64x = 0

_________________________________________________________________________________________________________________________

4. Докажите тождество

           x2 – 12x + 32 = (x - 8)(x  - 4)
_______________________________________

5. Вычислите наиболее рациональным способом:
            [image: image6.png]872 -43%

8743+




КОНТРОЛЬНАЯ РАБОТА № 6

2.  ВАРИАНТ

1.  Разложите многочлен на множители:

а) 4x2 + 8x;
б) 3m – 6n + mn – 2n2 ;
в) 9a2 - 16;

г) y3 + 18y2 +81y.

2. Сократите дробь:

а) [image: image8.png]


            б) [image: image10.png]9p2 + 6pq+ q2




3. Решите уравнение

                    x3 – 36x = 0

_________________________________________________________________________________________________________________________

4. Докажите тождество

           x2 + 14x + 48 = (x + 8)(x  + 6)

_______________________________________

5. Вычислите наиболее рациональным способом:

            [image: image12.png]169%+59%
228
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КОНТРОЛЬНАЯ РАБОТА № 6

3. ВАРИАНТ

1.  Разложите многочлен на множители:

а) -12a2 + 18a3;

б) 2a + 4b – ab – 2b2;

в) x2 – 64y2;

г) –2x3 – 28x2 – 98x.
2. Сократите дробь:

а) [image: image14.png]49m?—n?

3mn?— 21m®n



            б) [image: image16.png]81x?-16
16+722481[7




3. Решите уравнение

                    (x - 4)2 – 25 = 0
_________________________________________________________________________________________________________________________

4. Докажите тождество

           x2 – 12x + 45 = (x - 15)(x  + 3)

_______________________________________

5. Вычислите наиболее рациональным способом:

            [image: image18.png]99%-61%
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КОНТРОЛЬНАЯ РАБОТА № 6

4. ВАРИАНТ

1.  Разложите многочлен на множители:

а) –21b3 – 14b2;
б) mn + 3m – n2 – 3n;
в) 81a2 – b2;

г) 3y3 – 36y2 + 108y.

2. Сократите дробь:

а) [image: image20.png]12a°b+8ab®
Sa?— ab?



            б) [image: image22.png]36c,

0c +25
25-36c2




3. Решите уравнение

                    (x + 2)2 - 49 = 0

_________________________________________________________________________________________________________________________

4. Докажите тождество

           x2 + 14x - 51 = (x + 17)(x  - 3)

_______________________________________

5. Вычислите наиболее рациональным способом:

            [image: image24.png]1829+ 627
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